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Choose one of the questions to answer.  Think and sketch your answer before writing.  

1.  A.  Provide five different reasons for why sellers might engage in tie-ins.  Provide an example of each in sufficient detail to relate the example to the offered reason.
     B.  Microsoft (MS) has been accused of various monopoly practices by the Department of Justice.  Included in the accusations are claims of tie-in sales involving Internet Explorer IE, MS’s web browser, and MS Office, Microsoft’s business applications suite that combines Excel, Word, Outlook (mail manager), and, in some versions,  Power Point.

i.   From your list of five above, which two explanations might be applicable to MS’s tie-in of IE?  Explain why you think so.
ii.  What facts would you seek to “choose” between the two explanations?

iii.  Explain the efficiency implications of the alternative tie-in explanations?  Be sure to take into account the fact that Microsoft has market power with respect to the operating system.
iv.  Select one of your five explanations for tie-ins from part A. above that you did not use in part i. concerning the browser, and do your best in using that as the explanation for MS’s tie-in of Word and Excel?

2.  
A. Provide a theoretical framework through which you can evaluate what features of an industry make it more or less likely that collusion or price coordination will be successful.  
B.  List seven “features” of an methionine industry that you would be interested in knowing to assess the probability that the manufacturers would be successful in fixing the price above the competitive level.  Explain the significance of each feature and how and why, under the theoretical framework, you expect it to impact the probability of successful collusion (increase or decrease the probability).
    
B.  Discuss two hypothetical facts that you would consider relevant evidence as to whether the manufacturers of methionine had in fact successfully colluded. 
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